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unsigned long mktime (unsigned int year, unsigned int mon,



unsigned int day, unsigned int hour, unsigned int min, unsigned int
sec) { iIf (0 >=(int) (mon-=2)) {/*1..12->11,12,1..10 */ mon =
12. /* Puts Feb last since it has leap day */ year -=1. } return (((
(unsigned long) (year/4 - year/100 year/400 367*mon/12 day)
year*365 - 719499 )*24 hour /* now have hours */ )*60 min /* now
have minutes */ )*60 sec. /* finally seconds */ }[J 3] set_rtc_mmss()
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set_rtc_mmss(unsigned long nowtime) { int retval = 0. int
real_seconds, real_minutes, cmos_minutes. unsigned char
save_control, save_freq_Oselect. /* gets recalled with irq locally
disabled */ spin_lock(amp. RTC_DM_BINARY) ||
RTC_ALWAYS BCD) BCD_TO_BIN(cmos_minutes). /* * since
were only adjusting minutes and seconds, * dont interfere with hour
overflow. This avoids * messing with unknown time zones but
requires your * RTC not to be off by more than 15 minutes */
real_seconds = nowtime % 60. real _minutes = nowtime / 60. if
(((abs(real_minutes - cmos_minutes) 15)/30) &amp. 1)
real_minutes = 30. /* correct for half hour time zone */ real_minutes
%= 60. if (abs(real_minutes - cmos_minutes) 100Test LI (1 [J [0 [
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